Graphs of sine and cosine (sec. 7.4)
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4. [14 points] The noise level of the sound of a fire alarm at a factory oscillates between a

maximum of 120 decibels to a minimum of 70 decibels. It takes the alarm 10 seconds to go
from its maximum to its minimum noise level. Let y = f(¢) be the noise level of the sound
of the alarm (in decibels) ¢ seconds after it is activated. Suppose that f(t) is a sinusoidal

function and that f(0) = 70.

a. [6 points] Find the period, the amplitude, the midline and formula of the function y = f(t).

Include units.
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